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OBE 

CO RBT 
1 If  h(t)= e

-2t
u(t) and x(t)=u(t+2), Determine the output given  is the 

impulse response and  is the input for the LTI system. 

10 CO3 L2 

2 The impulse response of a system 1 is  and system 2 is 

h(t)= e
-2|t|

.Check whether the systems are stable, causal and memory less system. 

10 CO4 L2 

3 Obtain direct form-1 and direct form 2 representations for the following 

a. +5 +4 y(t)=  

        

     b. y[n]+0.5y[n-1]-0.3y[n-3]=x[n]+2x[n-2] 

10 CO4 L2 

4 Find the natural response, forced response and complete response of the given 

difference equation.  

 y[n]+1.5y[n-1]+0.5y[n-2]=x[n]    given y[-1]=1, y[-2]=0, x[n]=2
n
u[n] 

 

10 CO4 L2 

5 List  and explain the properties of ROC with examples. 10 CO6 L2 

6 Obtain Z-transform of the following functions 

a. a
n
cos(Ωn)u(n)                            b. n(-1/2)

n
u(n)*(3/4)

n
u(-n) 

10 CO6 L2 

7 Prove distributive and time shifting property of Convolution Integral 10 CO3 L2 

 

 

 

 

Answers 

1.  

 



 

 
 

 

 

 

 

 
 

 

 



 

 

 

 

 

 

 

 

2 

 
 

3 

 
 



 

 
4. 

 



 

 

 
5. 

 

 



 

 

 
 

6. 

 
 

 

 

 

 

 

 

 



 

 
 

 

 

 

7. 

Distributive 

 
Time shifting 

 
 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


